


2D

VALIADIS

K-series

IES SUPER PREMIUM EFFICIENCY

ACCORDING IEC 80 - 355

HELLENIC MOTORS

SINCE 1927

Applications

Fans

Pumps
Gears
Compressors
Textiles

Food industry

Standard features

Industrial series

of cast-iron housing motors

IPS5 protection degree

Insulation class F,

temperature rise 80°C

Removable feet with the possibility

of right and left hand side terminal box
Terminal box rotation at 180°

SKF or NSK bearings

Cast iron housing for the bearing

VALIADIS S.A.
HELLENIC MOTORS
Quality Assurance Certificate eniso 9001:2015
Certificate Reg. No. 041130055

Optional features

Special voltages and frequency

Class H insulation

Brake kits for all motors

Forced cooling for constant torque
operation through frequency inverter
IP56 / IP65 protection

PTC/PT100 in the winding

Frame reduced motors (non-IEC)
Anticondensation heaters

Roller bearings on drive end

Double shaft

Cable execution (with terminal box
or directly connected)

Epoxy raisin encapsulated terminal box
Epoxy raisin encapsulated winding

Silicon encapsulated terminal box

p -

{£5) VALIADIS

EEEEEEEEEEEE



Three-phase motors with squirrel cage, protection degree IP55

2pole-3000rpm
synchronous speed 50Hz
380-420/220-240 VY/A 50 Hz

660-725/380-420 VY/A 50 Hz
Insulation Class F

RATED RATED RATED RATED pOWER RATED STARTING © starming "OOENT woisE -
POWER SPEED CURRENT CURRENT CURRENT CURRENT EFF L)oron ropo e TORQUE CURRENT |\eoria LEVEL et
(380V)  (400V) (415V)  (525V) RATIO RATIO “onpy LW

K80-2 | 0.75 [ 2900 | 1.5 1.5 1.4 11 [86.3] 0.82 | 25 2.2 2.7 8.0 [0.0015| 62 18
K80-2 | 1.1 |2905| 2.3 2.2 2.1 17 |878] 0.82 | 36 2.2 2.7 8.0 | 0.003 | 62 24
K90S-2 | 15 |2940| 3.0 2.9 2.8 2.2 |889] 0.85 | 4.9 2.3 2.7 8.0 |0.0033| 67 25
K9OL-2 | 22 [2940| 4.3 4.0 3.9 3.1 [90.2] 0.85 | 7.1 2.3 2.7 8.0 [0.0041| 67 31
K100L-2 | 3 [2945| 5.8 55 5.3 42 1911 087 | 97 2.3 2.7 8.0 0.01 74 41
Ki12M-2 | 4 | 2945| 7.5 7.1 6.9 54 |91.8] 0.88 | 13.0 2.4 2.7 80 | 0013 | 77 48
K1328-2 | 55 |2945| 10.3 9.7 9.4 74 |926] 0.88 | 17.8 2.0 2.7 8.0 0.03 79 86
K1328-2 | 75 [2945| 137 13.0 12.6 9.9 [933] 0.89 | 24.3 2.0 2.7 82 | 0037 | 79 95
K160M-2 | 11 | 2965 | 20.0 19.0 18.3 145 [94.0] 0.89 | 354 2.2 2.7 80 | 0078 | 81 125
K160M-2 | 15 [ 2965 | 27.1 25.7 24.8 19.6 [945| 0.89 | 483 2.2 2.7 85 | 0095 | 81 161
K160L-2 | 18.5 | 2965 | 33.3 31.6 30.5 241 [94.9] 0.89 | 59.6 2.2 2.7 8.5 0.11 81 167
K180M-2 | 22 | 2970 | 39.5 375 36.2 286 [951] 0.89 | 70.7 2.2 2.7 8.0 0.19 83 237
K200L-2 | 30 |2975| 53.6 50.9 49.1 38.8 [955] 0.89 | 96.3 2.2 2.8 8.0 0.29 84 350
K200L-2 | 37 |2975| 659 62.6 60.4 | 477 [95.8]| 0.89 | 1188 | 2.2 2.8 8.0 0.36 84 399
K225M-2 | 45 |2975| 80.0 76.0 73.3 57.9 |96.0| 0.89 | 1445 | 2.2 2.7 8.5 0.46 86 420
K250M-2 | 55 [2980| 97.6 92.7 89.4 706 [96.2] 0.89 | 176.3 | 2.0 2.7 7.5 1.1 89 472
K280S-2 | 75 |2980| 1327 | 126.0 | 1215 | 96.0 |965| 0.89 | 2404 | 21 2.7 7.5 1.9 91 649
K280M-2 | 90 | 2980 | 1591 | 1511 | 145.6 | 1151 [96.6| 0.89 | 288.4 | 2.0 2.7 7.2 2.29 91 708
K3158-2 | 110 | 2985 | 191.8 | 182.2 | 175.7 | 138.9 |96.8| 0.9 | 3519 | 2.0 2.8 7.5 3.05 92 1292
K315M-2 | 132 |2985| 230.0 | 2185 | 2106 | 1665 |96.9| 0.9 | 4223 | 2.0 2.8 7.5 3.41 92 1349
K315L-2 | 160 | 2985 | 2785 | 2645 | 255.0 | 201.6 |97.0| 09 |511.9 | 2.2 2.8 8.5 4.12 92 1397
K315L-2 | 185 | 2985 | 317.8 | 301.9 | 291.0 | 230.0 [97.2| 091 | 591.9 | 2.2 2.8 8.5 453 92 1435
K315L-2 | 200 |2985| 343.6 | 326.4 | 314.6 | 2487 [97.2] 0.91 | 639.9 2.2 2.8 8.5 4.87 92 1444
K355M-2 | 220 | 2990 | 377.9 | 359.0 | 346.0 | 2735 [97.2| 0.91 | 702.7 | 2.0 2.8 8.5 4.4 100 | 1700
K355M-2 | 250 | 2990 | 429.4 | 408.0 | 393.2 | 310.8 [97.2] 0.91 | 798.5 2.0 2.8 8.5 4.8 100 | 1780
K355L-2 | 280 | 2990 | 481.0 | 456.9 | 440.4 | 3481 |97.2| 0.91 | 894.3 | 2.0 2.8 8.5 5.0 100 | 1950
K355L-2 | 315 | 2990 | 5411 | 514.0 | 4955 | 391.6 [97.2| 0.91 [1006.1] 2.0 2.8 8.5 5.6 104 | 2150
K355L-2 | 355 | 2990 | 609.8 | 579.3 | 558.4 | 4414 |97.2| 0.91 [1133.9] 2.0 2.8 8.5 5.9 104 | 2260
K355L-2 | 400 | 2990 | 687.1 | 652.7 | 629.2 | 497.3 |97.2| 0.91 [12776] 20 2.8 8.5 6.2 104 | 2340

.ﬁ' VALIADIS

HELLENIC MOTORS



Three-phase motors with squirrel cage, protection degree IP55

4pole-1500rpm
synchronous speed 50Hz
380-420/220-240 VY/A 50 Hz
660-725/380-420 VY/A 50 Hz
Insulation Class F

RATED RATED RATED RATED pOWER RATED STARTING © starming "OOENT NoisE -
POWER SPEED CURRENT CURRENT CURRENT CURRENT EFF [)oron ropo e TORQUE CURRENT |\eora LEVEL ey
(380V)  (400V) (415V) (525V) RATIO RATIO  “epeyy LW

K80-4 | 0.75 [ 1450 | 1.7 1.6 1.6 1.2 [88.2] 075 | 4.9 2.4 2.7 7.8 10.0055 | 56 18
K9OL-4 | 1.1 |1470| 24 2.3 2.2 1.8 |895] 075 | 7.1 2.4 2.7 85 10.0049 | 59 27
K90S-4 | 15 |1470| 3.2 3.1 3.0 23 |904| 077 | 97 2.3 2.7 8.5 10.0056 | 59 30
K100L-4 | 2.2 | 1470| 46 4.4 4.2 34 |91.4] 078 | 143 2.4 2.7 85 | 0019 | 64 42
K100L-4 | 3 [1485| 6.2 5.9 5.7 45 [921] 078 | 193 2.4 2.8 9.0 | 0.029 | 64 56
Ki12M-4 | 4 | 1485| 8.2 7.8 7.5 59 |92.8]| 0.8 | 25.7 2.4 2.8 9.0 | 0039 | 65 78
K1328-4 | 55 |1485| 11.2 10.6 10.2 81 [934] 0.8 | 354 2.0 2.7 85 | 0092 | 71 93
K132M-4 | 75 |1490| 15.0 14.2 13.7 10.8 | 94.0| 0.81 | 48.1 2.4 2.7 9.0 0099 | 71 97
K160M-4 | 11 |1490| 21.3 20.2 195 154 |94.6| 0.82 | 70.5 2.1 2.7 9.0 0.19 73 128
K160L-4 | 15 | 1490 | 285 27.1 26.1 20.7 [95.1] 0.84 | 96.1 2.0 2.7 9.0 0.21 73 165
K180M-4 | 185 | 1485 | 34.7 33.0 31.8 251 1953| 0.84 | 119.0 | 24 2.8 9.0 0.29 76 219
K180L-4 | 22 [1485| 41.2 39.1 37.7 298 [955] 0.84 | 1415 | 22 2.8 9.0 0.34 76 239
K200L-4 | 30 |1485| 55.9 53.1 51.2 405 [959] 0.85 | 1929 | 24 2.8 8.5 0.73 76 343
K2258-4 | 37 |1485| 68.0 64.6 62.3 492 [96.1] 0.85 [ 237.9 | 24 2.7 8.5 0.87 78 385
K225M-4 | 45 |1485| 826 78.4 75.6 59.8 |96.3]| 0.85 | 289.4 | 2.4 2.7 9.0 0.96 78 410
K250M-4 | 55 | 1490 | 100.7 | 95.7 92.2 729 [965] 0.85 | 3525 | 2.0 2.7 8.0 1.69 79 528
K280S-4 | 75 |1490| 1355 | 128.7 | 124.0 | 98.0 |96.7| 0.87 | 4807 | 21 2.7 8.0 4.1 80 736
K280M-4 | 90 | 1490 | 160.4 | 152.3 | 146.8 | 116.1 |96.9| 0.88 | 576.8 | 2.1 2.7 8.0 5.37 80 754
K3158-4 | 110 | 1490 | 1936 | 1839 | 177.3 | 140.1 |97.0] 0.89 | 7050 | 2.0 2.7 8.5 5.9 88 1140
K315M-4 | 132 | 1490 | 2321 | 2205 | 2125 | 168.0 |97.1| 0.89 | 846.0 | 2.2 2.8 9.0 6.49 88 1479
K315L-4 | 160 | 1490 | 277.9 | 264.0 | 2545 | 2011 |97.2| 0.9 [10255] 1.9 2.7 8.5 7.89 88 1536
K315L-4 | 185 | 1490 | 320.7 | 304.6 | 293.6 | 2321 |97.4| 0.9 [11857] 1.9 2.7 8.5 8.32 88 1587
K315L-4 | 200 | 1490 | 346.7 | 329.3 | 317.4 | 2509 |97.4| 0.9 [1281.9] 1.9 2.7 8.5 9.15 88 1589
K355M-4 | 220 | 1490 | 3821 | 363.0 | 349.9 | 276.6 [97.2| 0.9 |14101| 2.0 2.6 8.5 9.9 92 1960
K355M-4 | 250 | 1490 | 434.2 | 4125 | 3976 | 3143 |97.2| 09 [1602.3| 2.0 2.6 8.5 10.2 92 2080
K355L-4 | 280 | 1490 | 486.3 | 462.0 | 4453 | 352.0 |97.2| 0.9 [17946] 2.0 2.6 8.5 11.6 92 2190
K355L-4 | 315 | 1490 | 5471 | 519.7 | 501.0 | 396.0 [97.2| 0.9 [2019.0] 2.0 2.6 8.5 12.8 92 2350
K355L-4 | 355 | 1490 | 6235 | 592.3 | 5709 | 451.3 |97.2| 0.9 [22753| 2.0 2.6 8.5 13.4 92 2520
K355L-4 | 400 | 1490 | 7105 | 675.0 | 650.6 | 514.3 |97.2| 09 |2563.8| 2.0 2.6 8.5 14.2 92 2680

{3 VALIADIS

HELLENIC MOTORS



Three-phase motors with squirrel cage, protection degree IP55

6pole-1000rpm
synchronous speed 50Hz
380-420/220-240 VY/A 50 Hz
660-725/380-420 VY/A 50 Hz
Insulation Class F

RATED RATED RATED RATED poWER RaTED STARTING © starming "ORENT NOISE -
POWER SPEED CURRENT CURRENT CURRENT CURRENT EFF FOWER FEFED. “ToRQUE curRent | OF  rever | NEL
(380V)  (400V) (415V) (525V) RATIO rao et LW

K90S-6 | 075 | 980 | 19 | 18 | 17 | 14 |857] 07 | 73 | 22 27 76 100086 | 57 | 25
KooL6 | 1.1 | 980 | 27 | 26 | 25 | 20 le72| 071 | 107 | 22 27 75 100098 | 57 | 29
KiooL-6 | 15 | 980 | 36 | 34 | 33 | 26 884|071 | 146 | 20 27 00 | 0026 | 61 | 44
Kitems | 22 [ 080 | 52 | 50 | 48 | 38 [807| 071 | 214 | 20 27 72 10038 | 65 | 66
K1325-6 | 3 | 985 | 71 | 67 | 65 | 51 |906] 071 | 291 | 20 27 75 | 0077 | 69 | 57
Kizam-6| 4 |85 | 92 | 88 | 85 | 67 |914| 072 | 388 | 20 27 75 | 009 | 69 | 65
K132M-6 | 55 | 985 | 126 | 120 | 115 | 91 |922| 072 | 533 | 2 27 75 | 011 | 69 | 95
Ki6oM-6 | 7.5 | 985 | 161 | 153 | 148 | 117 |929]| 075 | 727 | 20 27 75 | 023 | 73 | 16
K160L-6 | 11 | 985 | 200 | 217 | 209 | 166 |937] 076 | 1066 | 20 27 75 | 026 | 73 | 183
K180L-6 | 15 | 990 | 306 | 201 | 280 | 221 |043| 077 | 1447 ] 22 28 90 | 052 | 73 | 205
K200L-6 | 185 | 990 | 371 | 353 | 340 | 269 |946]| 08 | 1785 | 21 27 75 | 064 | 73 | 318
K200L6 | 22 [ 990 | 435 | 413 | 308 | 315 |949] 08 | 2122 22 27 85 | 074 | 73 | 35
K225M-6 | 30 | 990 | 583 | 554 | 534 | 422 |953| 081 | 2894 | 20 27 80 | 137 | 74 | 323
Kesom-6 | 37 | 990 | 708 | 673 | 649 | 513 |956] 083 | 3569 | 20 27 80 | 251 | 76 | 469
K280S-6 | 45 | 990 | 840 | 798 | 769 | 60.8 |95.8| 0.85 | 4341 | 22 27 00 | 409 | 78 | 743
Kesom-6 | 55 | 990 | 1012 | 962 | 927 | 733 |96.0] 085 | 5306 | 20 27 75 | 465 | 78 | 708
K3155-6 | 75 | 995 | 140.9 | 1338 | 1200 | 1020 |963] 084 | 7198 | 21 28 85 | 906 | 83 | 1235
K315M-6 | 90 | 995 | 1667 | 1584 | 1527 | 1207 |965] 0.84 | 8638 | 202 28 90 | 1054 | 83 | 1378
K315L-6 | 110 | 995 | 2035 | 193.4 | 1864 | 1473 |96.6] 0.84 |10558| 2. 28 90 | 11.04 | 83 | 1430
K315L-6 | 132 | 995 | 2409 | 2289 | 2006 | 1744 |96.8| 084 | 1267 | 21 28 85 | 1205 | 83 | 1517
K355M-6 | 160 | 995 | 291.4 | 2768 | 266.8 | 2109 |97.0| 086 |15357] 1.9 24 80 | 129 | 85 | 1760
K355M-6 | 185 | 995 | 337.0 | 3201 | 3085 | 2439 |97.0| 0.86 [17756] 1.9 24 80 | 134 | 85 | 1810
K355M-6 | 200 | 995 | 364.3 | 3461 | 3336 | 2637 |97.0| 0.86 [19196] 1.9 24 80 | 139 | 85 | 1960
K355L-6 | 220 | 995 | 4007 | 3807 | 3669 | 290.0 |97.0| 0.86 |2111.6] 19 2.4 78 | 144 | 85 | 2150
K355L-6 | 250 | 995 | 4553 | 4326 | 4169 | 3206 |97.0| 0.86 |23995| 1.9 24 78 | 148 | 91 | 2340
K355L-6 | 280 | 995 | 5100 | 4845 | 467.0 | 3691 |97.0] 086 |26874| 19 2.4 78 | 152 | o1 | 2460
K355L-6 | 315 | 995 | 573.7 | 5450 | 5253 | 4153 |97.0| 0.86 |30234] 1.9 2.4 78 | 158 | 91 | 2580

{3 VALIADIS

HELLENIC MOTORS



Three-phase motors with squirrel cage, protection degree IP55

8pole-750rpm
synchronous speed 50Hz
380-420/220-240 VY/A 50 Hz
660-725/380-420 V Y/A 50 Hz
Insulation Class F

RATED RATED RATED RATED pOWER RaTED STARTING © starming "OOENT NOISE -
POWER SPEED CURRENT CURRENT CURRENT CURRENT EFF FONER FEFED “TORQUE cuRRent | OF  rever | NEL
(380V)  (400V) (415V) (525V) RATIO rao e LW

KiooL8 | 075 | 715 | 21 | 20 | 19 | 15 |srol 067 | 100 | 20 25 50 | 0015 | 59 | 40
Ktooe-8 | 11 [ 720 30 | 28 | 27 | 21 lsa0] 067 | 146 | 20 25 55 | 0022 | 50 | 44
Kiizm-8| 15 | 720] 39 | 37 | 35 | 28 less| 069 | 199 | 20 25 50 | 002 | 61 | 62
K132s8 | 22 [ 730 | 56 | 53 | 51 | 40 |s7o| 069 | 288 | 20 26 55 | 0062 | 64 | 55
Kizam-8| 3 | 730] 73 | 69 | 66 | 53 lsgal 071 | 392 | 20 26 55 | 0077 | 64 | 78
kieoms| 4 | 735 | 96 | 91 | 88 | 69 [so4l 071 | 520 | 20 25 55 | 013 | 68 | 144
Kieom-8 | 55 | 735 | 128 | 122 | 118 | 93 looal 072 | 715 | 20 25 55 | 017 | 68 | 157
Ki6oL8 | 75 | 735 | 171 | 162 | 157 | 124 |913] 072 | 974 | 20 25 55 | 023 | 68 | 171
KisoL8 | 11 | 740 | 248 | 236 | 227 | 180 laoo| 073 | 1420 ] 20 25 75 | 035 | 70 | 209
K2o0L8 | 15 | 740 | 332 | 315 | 304 | 240 |920] 073 [ 1936 | 20 25 75 | 064 | 73 | 333
K2255-8 | 185 | 740 | 402 | 382 | 368 | 291 |9033| 075 | 2388 | 20 26 75 | 111 | 73 | 299
Ke2sM-8 | 22 | 740 | 470 | 446 | 430 | 340 o936 076 | 2839 | 20 26 75 | 137 | 73 | 318
K250M-8 | 30 | 745 | 629 | 508 | 576 | 455 |o41)| 077 | 3846 | 21 25 80 | 235 | 75 | 404
K280s-8 | 37 | 745 | 763 | 725 | 699 | 553 |o44]| 078 | 4743 | 21 25 80 | 4220 | 76 | 714
Kegom-8 | 45 | 745 | 914 | 868 | 837 | 661 |oaz| 079 | 5768 | 20 25 75 | 587 | 76 | 736
K3155-8 | 55 | 745 | 110.1 | 1046 | 1008 | 797 |o40]| 079 | 7050 | 20 26 75 | 886 | 82 | 1188
K315M-8 | 75 | 745 | 1495 | 1420 | 1369 | 1082 |o53| 08 | 9614 | 20 26 65 | 1054 | 82 | 1283
K315L-8 | 90 | 745 | 1768 | 167.9 | 161.9 | 1280 |o55] 08 |11537] 20 26 70 | 1252 | 8 | 1330
K315L-8 | 110 | 745 | 2156 | 2048 | 1974 | 1561 |os57| 08 | 1410 | 20 25 70 | 1512 | 82 | 1401
K355M-8 | 132 | 745 | 2582 | 2453 | 2364 | 186.9 |os59] 081 | 1602 [ 1.8 24 65 | 129 | 89 | 1840
K355M-8 | 160 | 745 | 3156 | 300 | 2860 | 226.0 |91 0.8 | 2051 | 1.8 24 65 | 139 | 89 | 1990
K355L-8 | 185 | 745 | 3638 | 3456 | 3303 | 261.1 |os2| 0.81 | 2371 | 18 24 65 | 142 | 89 | 2150
K355L-8 | 200 | 745 | 3932 | 373.6 | 3567 | 2820 |os3| 0.81 | 2564 | 1.8 24 65 | 149 | 89 | 2450
K355L-8 | 220 | 745 | 4306 | 411 | 3924 | 3102 |93 081 | 2820 | 1.8 24 65 | 153 | 89 | 2530
K355L-8 | 250 | 745 | 4916 | 467 | 4459 | 3525 |963| 0.81 | 3205 | 1.8 24 65 | 160 | 89 | 2650

{3 VALIADIS

HELLENIC MOTORS



Dimensions Foot Mount B3

()]
=
A
VIEW-A
o 2:1
O B
& g o - C B AA K
f ’ BB A
-D L AB
MOUNTING B3
SIZE 80-355

FRAME Poles A AA AB AC AG B BB C D DB E ED F G GO H HA HD K KK L LG

K80M | 2-8 [125| 34 | 165 | 185| 51 | 100142 | 50 | 19 | M6X16 | 40 | 22 | 6 [15.5 80 | 10 [ 250 | 10 | M24X1.5| 351 [ 115
K90S | 2-8 | 140 | 36 | 180 [215| 60 | 100 | 180 | 56 | 24 | M8X19 | 50 | 32 | 8 | 20 90 |12.5]275| 10 | M24X1.5]| 390 | 129
K9OL | 2-8 | 140 | 36 [ 180|220 | 60 | 125|210 | 56 | 24 | M8X19 | 50 | 32 | 8 | 20 90 [12.5]280 | 10 | M24X1.5] 430 | 129
8
8

(2}

K100L | 2-8 | 160 | 40 | 205 | 230 | 60 | 140 | 233 | 63 | 28 | M10X22 | 60 | 40 24 100 14 |295 | 12 | M24X1.5 | 484 | 147
K112M | 2-8 [ 190 | 45 | 230 | 256 | 75 [ 140252 | 70 | 28 | M10X22 | 60 | 40 24 112 14 |330 | 12 | M30X2 | 521 | 144
K132S | 2-8 [216| 52 | 270|285 | 75 | 140204 | 89 | 38 | M12X28 | 80 | 56 | 10 | 33 132 ] 16 |365 | 12 | M30X2 | 527 | 250
K132M | 2-8 | 216 | 52 [270 | 285| 75 | 178|242 | 89 | 38 | M12X28 | 80 | 56 | 10 | 33 132] 16 | 365 | 12 | M30X2 | 565 | 250
K160M | 2-8 [ 254 | 67 | 320|355 | 95 | 210|305 108 | 42 | M16X36 [ 110 | 80 | 12 | 37 160 19 | 455 [14.5] M36X2 | 712 | 270
K160L | 2-8 [ 254 | 67 | 320 [ 355 | 95 | 254|325 | 108 | 42 | M16X36 |110| 80 | 12 | 37 160 | 19 | 455 [14.5] M36X2 | 734 | 270
K180M | 2-8 [ 279 | 70 | 345|415 [ 120 | 241420 | 121 | 48 | M16x36 [ 110 | 80 | 14 [42.5 180 22 | 510 [14.5] M48x2 | 863 | 288
K180L | 2-8 [ 279 | 70 |345| 415|120 279|420 | 121 | 48 | M16x36 | 110 | 80 | 14 |42.5 180 22 | 510 [14.5] M48x2 | 868 | 288
K200L | 2-8 | 318 | 70 | 390 | 455 | 120 | 305 | 490 | 133 | 55 | M20x42 |110| 90 | 16 | 49 200 | 25 [550 [18.5] M48x2 | 959 | 298
K225 | 4-8 | 356 | 75 [435|510| 160 | 286 | 475|149 | 60 | M20x42 | 140|100 | 18 | 53 225| 28 |77018.5| M64x2 | 1008 350
K225M | 2 [356 | 75 | 435|510 (160 | 311)475] 149 | 55 | M20x42 [110| 80 | 16 | 49 225| 28 |770(18.5| M64x2 | 988 | 320
K225M | 4-8 | 356 | 75 [435|510| 160 | 311 [ 475|149 | 60 | M20x42 | 140|100 | 18 | 53 225| 28 |77018.5| M64x2 | 1018 350
K250M | 2 [406 | 80 | 485|555 | 160 | 349 515 | 168 | 60 | M20x42 | 140|100 | 18 | 53 250 33 |770| 24 | M64x2 | 1071 | 350
K250M | 4-8 | 406 | 80 | 485|555 | 160 | 349|515 | 168 | 65 | M20x42 [ 140 {100 | 18 | 58 250 33 [770| 24 | M64x2 | 1071 350
K280S | 2 |457 | 85 | 550 | 645 | 160 | 368 | 554 | 190 | 65 | M20x42 | 140 | 100 | 18 | 58 280 | 35 [885| 24 | M64x2 | 1098 | 350

© |0 |0 |0 (0o (N | ([N |

{e}

—_
o

—_
—_

—_
=

—_
—_

—_
—_

—_
—_

—_
—_

K280S | 4-8 | 457 | 85 | 550 | 645 | 160 | 368 | 554 | 190 | 75 | M20x42 | 140|100 | 20 [67.5 280 | 35 [885| 24 | M64x2 | 1112 350

—_
NN

—_
—_

K280M | 2 |457 | 85 | 550 | 645 | 160 | 419 ] 554 | 190 | 65 | M20x42 | 140 | 100 | 18 | 58 280 | 35 [885| 24 | M64x2 | 1118 350

K280M | 4-8 | 457 | 85 | 550 | 645 | 160 | 419 554 | 190 | 75 | M20x42 | 140 {100 | 20 |67.5 280 35 [885| 24 | M64x2 | 1132] 350

—_
no

K3158 | 2 [508 | 120 | 635 | 705 [ 330 | 406 | 790 | 216 | 65 | M20x42 [ 140|100 | 18 | 58 315 35 |938 | 28 | M72x2 | 1539 | 387

—
—

K315M | 2 [508 | 120 | 635 | 705 | 330 | 457 | 790 | 216 | 65 | M20x42 [ 140 {100 | 18 | 58 315 35 (938 | 28 | M72x2 | 1539 387

—_
—_

K315L | 2 | 508 | 120 | 635 | 705 | 330 | 508 | 790 | 216 | 65 | M20x42 | 140 [ 100 | 18 | 58 315 35 |938 | 28 | M72x2 | 1539 | 387

E
—_

K315S | 4-8 | 508 | 120 | 635 | 705 | 330 | 406 | 790 | 216 | 80 | M20x42 [ 170 {130 | 22 | 71 315 35 [938| 28 | M72x2 | 1612|417

—
~

=
S

K315M | 4-8 | 508 [ 120 | 635 | 705 | 330 | 457 | 790 | 216 | 80 | M20x42 | 170|130 | 22 | 71 315 35 938 | 28 | M72x2 [ 1612|417

K315L | 4-8 [ 508 | 120 | 635 | 705 | 330 | 508 | 790 | 216 | 80 | M20x42 | 170 {130 22 | 71 315[ 35 |938| 28 | M72x2 | 1612|417

—_
ESN

K355M | 2 [ 610 | 125|735 | 735 | 260 | 560 | 775 | 254 | 75 | M24X50 [ 140|110 | 20 |67.5 355| 49 [1000| 28 | M72x2 | 1600 415

—_
N

K355L | 2 [610 (125|735 |735|260| 630|775 |254| 75 | M24X50 [ 140 {110 | 20 |67.5 355 | 49 [1000] 28 | M72x2 | 1490 415

—_
no

K355M | 4-8 | 610 | 125 | 735 | 735 | 260 | 560 | 775 | 254 | 100 | M24X50 [ 210|160 | 28 | 90 355| 49 [1000] 28 | M72x2 | 1670 445

—_
D

K355L | 4-8 | 610 | 125 | 735 | 735 | 260 | 630 | 775 | 254 | 100 | M24X50 | 210 [ 160 | 28 | 90 355 49 [1000{ 28 | M72x2 | 1570 445

e
D

—_
N

K355L* | 2 | 610 [ 125|735 | 735 | 260 | 630 | 875 | 254 | 75 | M24X50 | 140 | 110 | 20 |67.5 355 | 49 [1000] 28 | M72x2 | 1600 | 415

K355L* | 4-8 | 610 | 125 | 735 | 735 | 260 | 630 | 875 | 254 | 100 | M24X50 | 210 | 160 | 28 | 90 355| 49 [1000| 28 | M72x2 | 1670 445

—_
D

1. The dimension of "L’ with tolerance +-5 for frame 80-132,tolerance +-8 for frame 160-355. —=
onol , o orirame ¢ | | {5) VALIADIS
2. AC and L dimensions are the maximum external dimensions, and the details are subject to the confirmed drawings.

HELLENIC MOTORS



Dimensions Foot-Flange Mount B35

LG
LA
DA
T g:ﬁ:i/
X
@@ ﬁ
TJ_
D ;ﬂj - 3L :
Z A —J [ - 1@t e——x1
—E—-—<C B

BB

6,,,__?.*AG**F
|
i
/ o
= e
AA | K
A
AB

MOUNTING B35

SIZE 80-355
FRAME Poles A AA AB ACAG B BB C D DB E ED F G GD H HAHD K L* LALG M N P S T KK
K8OM | 2-8 [125| 34 | 165|185 | 51 {100 | 142 | 50 | 19 | M6X16 [ 40 | 22 | 6 [155| 6 | 80 | 10 {250 | 10 | 351 14 [115] 165|130 {200 | 12 | 3.5 |M24X1.5
K908 | 2-8 | 140 | 36 | 180 | 215 | 60 | 100 | 180 | 56 | 24 | M8X19 [ 50 [ 32 [ 8 [ 20 | 7 | 90 |125]275| 10 | 390 12 | 129165 130|200 | 12 | 3.5 [M24X1.5
KOL | 2-8 [140| 36 [180 220 | 60 125|210 | 56 | 24 | M8X19 [ 50 | 32 | 8 | 20 | 7 |90 [125[280| 10 |[430| 12 | 129|165 | 130|200 | 12 | 3.5 |M24X1.5
K100L | 2-8 [ 160 | 40 | 230 [ 230 | 60 [140 [233 [ 63 [ 28 [ M10X22 | 60 | 40 | 8 | 24 | 7 [100 | 14 [295 | 12 | 484 | 14 | 147 | 215 | 180 | 250 |14.5] 4 |M24X1.5
K112M | 2-8 | 190 45 | 230 | 256 | 75 [140 [252 | 70 | 28 | M10X22 | 60 | 40 | 8 | 24 | 7 | 112 14 | 330 | 12 | 521 | 12 | 144 | 215|180 | 250 [14.5] 4 | M30X2
K1328 | 28 [216| 52 [270 [ 285 | 75 [140 [204 [ 89 | 38 [ M12X28 | 80 | 56 | 10 | 33 | 8 [132 | 16 [365 | 12 | 527 | 14 | 250 | 265 | 230 | 300 |14.5] 4 | M30X2
K132M | 2-8 | 216 52 | 270 {285 | 75 [178 | 242 | 89 | 38 | M12X28 | 80 | 56 | 10 [ 33 | 8 |[132 16 [365| 12 | 565 14 | 250 | 265 | 230 [ 300 | 14.5] 4 | M30X2
K160M | 2-8 | 254 | 67 | 320 | 355 95 [ 210 305 | 108 | 42 | M16X36 | 110 | 80 | 12 | 37 | 8 | 160 | 19 | 455 |14.5) 712/ 15 | 270 | 300 | 250 | 350 [18.5] 5 [ M36X2
K160L | 2-8 | 254 67 | 320 | 355 95 [254 | 325 | 108 | 42 | M16X36 [ 110 | 80 | 12 | 37 | 8 | 160 | 19 | 455|145 734 | 15 | 270 | 300 | 250 | 350 [18.5] 5 | M36K2
K180M | 2-8 | 279 | 70 | 345 | 415 120 | 241 | 420 | 121 | 48 | M16x36 | 110 | 80 | 14 |425] 9 | 180 22 | 510 |14.5] 863 | 15 | 288 | 300 | 250 | 350 [18.5| 5 [ M48x2
K180L | 2-8 | 279 | 70 | 345 | 415 120 [279 | 420 | 121 | 48 | M16x36 | 110 | 80 | 14 [425] 9 | 180 22 | 510 |14.5] 868 | 15 | 288 | 300 | 250 | 350 [18.5] 5 | M4Bx2
K200L | 2-8 | 318 | 70 [390 | 455 | 120 [305 | 490 | 133 | 55 | M20x42 [ 110 [ 90 | 16 | 49 [ 10 | 200 | 25 | 550 |18.5] 959 | 17 | 298 | 350 | 300 | 400 [18.5| 5 | M48x2
K225S | 4-8 | 356 | 75 | 435|510 | 160 286 475 [ 149 | 60 | M20x42 | 140 | 100 | 18 | 53 | 11 [225 | 28 | 770 [18.5[1008] 19 | 350 | 400 | 350 | 450 [18.5] 5 | Mod4x2
K225M | 2 | 356 75 | 435510 | 160 311 475 | 149 | 55 | M20x42 | 110 | 80 | 16 | 49 | 10 | 225 28 | 770 |18.5) 988 | 19 | 320 | 400 | 350 | 450 [18.5[ 5 | M64x2
K225M | 4-8 | 356 | 75 | 435|510 | 160 [ 311 [ 475 | 149 | 60 | M20x42 140 | 100 | 18 [ 53 | 11 [ 225 28 [ 770 [18.5[1018] 19 | 350 | 400 | 350 | 450 | 18.5[ 5 | Mb4x2
K250M | 2 406 80 | 485|555 160 349 | 515 | 168 | 60 | M20x42 | 140 | 100 | 18 | 53 | 11 | 250 | 33 | 770 | 24 |1071| 22 | 350 | 500 | 450 | 550 [18.5] 5 [ M64x2
K250M | 4-8 | 406 | 80 | 485 | 555 160 349 | 515 | 168 | 65 | M20x42 {140 [ 100 | 18 | 58 | 11 | 250 | 33 | 770 | 24 |1071| 22 | 350 | 500 | 450 | 550 [18.5] 5 | M64x2
K2808 | 2 |457| 85 | 550 | 645 | 160 368 | 554 | 190 | 65 | M20x42 | 140 [100 | 18 | 58 | 11 | 280 | 35 [ 885 24 [1098] 22 | 350 | 500 | 450 | 550 [18.5| 5 | M64x2
K280S | 4-8 | 457 | 85 | 550 | 645 | 160 [ 368 | 554 [ 190 | 75 | M20x42 | 140 | 100 | 20 |67.5| 12 [ 280 | 35 | 885 | 24 [1112] 22 | 350 | 500 | 450 | 550 [18.5] 5 | Moé4x2
K280M | 2 457 | 85 | 550 | 645 | 160 | 419 | 554 [ 190 | 65 | M20x42 | 140 [ 100 | 18 [ 58 | 11 | 280 | 35 | 885 24 [1118] 22 | 350 | 500 | 450 | 550 [18.5| 5 | M64x2
K280M | 4-8 | 457 | 85 | 550 | 645 | 160 [419 | 554 [ 190 | 75 | M20x42 {140 {100 | 20 |67.5] 12 | 280 | 35 | 885 24 |1132| 22 | 350 | 500 | 450 | 550 [18.5] 5 | M64x2
K315 | 2 | 508 | 120 | 635 | 705 | 330 [406 [ 790 [ 216 | 65 | M20x42 | 140 | 100 | 18 | 58 | 11 315 | 35 | 938 | 28 |1539| 24 | 387 | 600 | 550 [ 660 | 24 | 6 | M72x2
K315M | 2 | 508|120 635 | 705 330 [ 457 790 | 216 | 65 | M20x42 {140 [ 100 | 18 | 58 | 11 | 315 35 | 938 28 |1539| 24 | 387 | 600 | 550 | 660 | 24 | 6 | M72x2
K315L | 2 | 508 | 120 | 635 | 705 | 330 {508 [ 790 [ 216 | 65 | M20x42 | 140 | 100 | 18 | 58 | 11 315 | 35 | 938 | 28 [1539| 24 | 387 | 600 [ 550 [ 660 | 24 | 6 | M72x2
K315S | 4-8 | 508 | 120 | 635 | 705 | 330 [406 [ 790 | 216 | 80 | M20x42 | 170 | 130 | 22 | 71 | 14 [315| 35 | 938 | 28 |1612| 24 | 417 | 600 | 550 | 660 | 24 | 6 | M72x2
K315M | 4-8 | 508 | 120 635 | 705 | 330 [ 457 790 | 216 | 80 | M20x42 | 170 | 130 | 22 | 71 | 14 | 315 35 | 938 28 |1612| 24 | 417 | 600 | 550 | 660 | 24 | 6 [ M72x2
K315L | 4-8 | 508 | 120 | 635 | 705 | 330 508 | 790 | 216 | 80 | M20x42 [ 170 {130 | 22 | 71 | 14 | 315 35 | 938 | 28 |1612| 24 | 417 [ 600 | 550 | 660 | 24 | 6 | M72x2
K356M | 2 | 610125735735 260 | 560 | 775 | 254 | 75 | M24X50 | 140 | 110 | 20 |67.5) 12 | 355 49 |1000| 28 |1600( 25 | 415|740 | 680 (800 | 24 | 6 | M72X2
K356L | 2 | 610 | 125735 | 735|260 [630 | 775 | 254 | 75 | M24X50 | 140 [ 110 | 20 [67.5) 12 [ 355 | 49 |1000] 28 |1490| 25 | 415|740 | 680 [ 800 | 24 | 6 | M72X2
K356M | 4-8 | 610 ) 125 735 | 735 | 260 | 560 | 775 | 254 | 100 | M24X50 | 210 | 160 | 28 | 90 | 16 | 355 | 49 |1000] 28 |1670( 25 | 445|740 | 660 [ 800 | 24 | 6 | M72X2
K355L | 4-8 | 610 ] 125735 | 735 260 630 | 775 | 254 | 100 | M24X50 | 210 [ 160 | 28 | 90 | 16 | 355 | 49 |1000| 28 |1570( 25 | 445|740 | 680 [ 800 | 24 | 6 | M72X2
K355LM | 2 | 610 | 125735 | 735 | 260 | 630 | 875 | 254 | 75 | M24X50 | 140 | 110 | 20 [67.5| 12 | 355 | 49 |1000| 28 |1600] 25 | 445|740 680 | 800 | 24 | 6 | M72X2
K355% | 4-8 | 610 | 125|735 | 735 | 260 | 630 | 875 | 254 | 100 | M24X50 | 210 | 160 | 28 | 90 | 16 | 355 | 49 [1000| 28 |1670| 25 | 445 | 740 | 680 | 800 | 24 | 6 | M72X2

1. The dimension of "L’ with tolerance +-5 for frame 80-132,tolerance +-8 for frame 160-355.
2. AC and L dimensions are the maximum external dimensions, and the details are subject to the confirmed drawings.

{i3) VALIADIS

HELLENIC MOTORS



Dimensions Flange Mount B5& VI

LG
LA
=
~ED—
o zA-——J
VIEW-A
8 2:1
% *
A p —E—
TR L
MOUNTING B5-V1
4 el SIZE 80-355
F LA L6 M
K80M | 2-8|185| 19 [170| 51 | M6X16 | 40 | 22 | 6 [165] 6 | 14 | 115|165 [ 130 | 200 | 12 | 3.5 |M24X1.5| 351 -
K90S [ 2-8|215]| 24 [ 185| 60 | M8X19 | 50 | 32 [ 8 | 20 | 7 | 12 {129 |165|130 (200 | 12 | 3.5 |M24X1.5| 390 | -
K9OL | 2-8 220 | 24 [ 190| 60 | M8X19 | 50 | 32 | 8 [ 20 | 7 | 12 | 129|165 | 130|200 | 12 | 3.5 [M24X1.5| 430 | -
K100L | 2-8 | 230 28 | 195| 60 | M10X22 | 60 | 40 | 8 | 24 | 7 | 14 [ 147 | 215|180 | 250 | 14.5] 4 |M24X1.5| 484 | -
K112M | 2-8 | 256 | 28 | 220 | 75 | M10X22 | 60 | 40 | 8 | 24 | 7 | 12 | 144|215 | 180|250 [ 14.5] 4 | M30X2 | 521 -
K1328 | 2-8 | 285 | 38 | 235| 75 | M12X28 | 80 | 56 | 10 | 33 | 8 | 14 | 250 | 265 | 230 | 300 | 14.5| 4 | M30X2 | 527 | -
K132M | 2-8 | 285| 38 | 235 | 75 | M12X28 | 80 | 56 | 10 | 33 | 8 | 14 | 250|265 | 230|300 | 14.5] 4 | M30X2 | 565 | -
K160M | 2-8 [ 355 | 42 | 295| 95 | M16X36 | 110 80 | 12 | 37 | 8 | 15 | 270|300 | 250 | 350 [ 18.5| 5 | M36X2 | 712 | 757
K160L | 2-8 | 355 | 42 [ 295 95 | M16X36 | 110 | 80 | 12 | 37 | 8 | 15 | 270 | 300 | 250 | 350 | 18.5| 5 | M36X2 | 734 | 779
K180M | 2-8 | 415 | 48 | 330 | 120 | M16x36 | 110 | 80 | 14 [42.5| 9 | 15 | 288 [ 300 | 250 | 350 [ 16.5| 5 | M48x2 | 863 | 908
K180L | 2-8 | 415| 48 | 330 | 120 | M16x36 | 110 | 80 | 14 |425] 9 | 15 | 288 | 300 | 250 [ 350 | 18.5] 5 | M48x2 | 868 | 913
K200L | 2-8 | 455 | 55 | 350 | 120 | M20x42 | 110 | 90 | 16 | 49 | 10 | 17 | 298 | 350 | 300 | 400 | 18.5] 5 | M48x2 | 959 |1034
K2258 | 4-8 | 510 | 60 | 550 | 160 | M20x42 | 140 | 100 | 18 | 53 | 11 | 19 | 350 | 400 | 350 | 450 | 18.5] 5 | M64x2 | 1008 | 1083
K2256M | 2 | 510 | 55 | 550 | 160 | M20x42 | 110 | 80 | 16 | 49 | 10 | 19 | 320 | 400 | 350 | 450 | 18.5| 5 | M64x2 | 988 | 1063
K225M | 4-8 | 510 | 60 | 550 | 160 | M20x42 | 140 | 100 | 18 | 53 | 11 | 19 | 350 | 400 | 350 | 450 | 18.5] 5 | M64x2 | 1018 | 1093
K250M | 2 | 555 | 60 | 560 | 160 | M20x42 | 140 | 100 | 18 [ 63 | 11 | 22 | 350 | 500 | 450 | 550 [ 18.5| & | M64x2 | 1071 | 1146
K250M | 4-8 | 555 | 65 | 560 | 160 | M20x42 | 140 | 100 | 18 | 58 | 11 | 22 | 350 [ 500 | 450 | 550 [ 18.5| 5 | M64x2 | 1071 | 1146
K280S | 2 [645| 65 | 600 | 160 | M20x42 | 140|100 | 18 | 58 | 11 | 22 | 350 [ 500 | 450 | 550 [ 18.5] 5 | M64x2 | 1098 | 1183
K280S | 4-8 | 645 | 75 | 600 | 160 | M20x42 | 140 | 100 | 20 [67.5| 12 | 22 | 350 | 500 | 450 | 550 | 18.5| 5 | M64x2 | 1112 [ 1197
K280M | 2 |645| 65 | 600 | 160 | M20x42 | 140 | 100 | 18 | 58 | 11 | 22 | 350 | 500 | 450 | 550 | 18.5| 5 | M64x2 | 1118 | 1203
K280M | 4-8 | 645 | 75 | 600 | 160 | M20x42 | 140 | 100 | 20 |67.5| 12 | 22 | 350 | 500 | 450 | 550 | 18.5] 5 | M64x2 | 1132 | 1217
K3158 | 2 [705| 65 | 620 | 330 | M20x42 | 140|100 | 18 | 58 | 11 | 24 | 387 | 600 | 550 | 660 | 24 | 6 | M72x2 | 1539 | 1624
K315M | 2 | 705| 65 | 620 | 330 | M20x42 | 140 | 100 | 18 | 58 | 11 | 24 | 387 | 600 | 550 | 660 | 24 | 6 | M72x2 | 1539 | 1624
K315L | 2 | 705] 65 | 620 | 330 | M20x42 | 140 | 100 | 18 | 58 | 11 | 24 | 387 | 600 | 550 [ 660 | 24 | 6 | M72x2 | 1539 | 1624
K3158 | 4-8 | 705 | 80 | 620 | 330 | M20x42 | 170|130 | 22 | 71 | 14 | 24 | 417 | 600 | 550 | 660 | 24 | 6 | M72x2 | 1612 | 1697
K315M | 4-8 [ 705 | 80 | 620 | 330 [ M20x42 | 170|130 | 22 | 71 | 14 | 24 | 417 [ 600 | 550 | 660 | 24 | 6 | M72x2 | 1612 | 1697
K315L | 4-8 | 705 | 80 | 620 | 330 | M20x42 | 170 | 130 | 22 | 71 | 14 | 24 | 417 | 600 | 550 | 660 | 24 | 6 | M72x2 | 1612 | 1697
K355M(V1)[ 2 | 735| 75 | 645 | 260 | M24X50 | 140 | 110 | 20 |67.5] 12 | 25 | 415|740 | 680 [ 800 | 24 | 6 | M72X2 | 1600 | 1700
K355L(V1)| 2 | 735| 75 | 645 | 260 | M24X50 | 140 | 110 | 20 |67.5| 12 | 25 | 415|740 | 680 | 800 | 24 | 6 | M72X2 | 1490 | 1590
K355M(V1)[ 4-8 | 735 | 100 | 645 | 260 | M24X50 | 210 | 160 [ 28 | 90 | 16 | 25 [ 445|740 | 680 (800 | 24 | 6 | M72X2 | 1670 | 1770
K355L(V1)| 4-8 | 735 | 100 | 645 | 260 | M24X50 | 210 | 160 | 28 | 90 | 16 | 25 | 445|740 | 680 | 800 | 24 | 6 | M72X2 | 1570 | 1670
K355M | 2 [735| 75 | 645 | 260 | M24X50 | 140 | 110 | 20 [67.5) 12 | 25 | 415|740 | 680 | 800 | 24 | 6 | M72X2 | 1600 | 1700
K355L» | 4-8 | 735 | 100 | 645 | 260 | M24X50 | 210 | 160 | 28 | 90 | 16 | 25 | 445|740 | 680 | 800 | 24 | 6 | M72X2 | 1670 | 1770

1. The dimension of 'L” and "LM’ with tolerance +-5 for frame 80-132,tolerance +-8 for frame 160-355. =
— . - oo 1 e {E5) VALIADIS
2. AC and L dimensions are the maximum external dimensions, and the details are subject to the confirmed drawings. EVS HELLENIC MOTORS



Terminal Box

Top Terminal Box

5
—2

)

i

FRAME A B C 1 2 3 4 5 GLAND SIZE OUTLET (dia).
K80 105 105 65 M5X16 M5X25 M5X16 M5X12 M4 M 24X1.5 11
K90-100 113 113 72 M5X16 M5X25 M5X16 M5X12 M4 M 24X1.5 o011
K112-132 121 129 80 M5X16 M5X25 M5X20 M5X16 M5 2XM30X2 2X015
K160 163 173 92 M6X16 M6X25 M6X16 M6X12 M6 2XM36X2 2X025
K180-200 188 208 107 M8x25 M8x35 M8x25 M8x16 M8 2XM48x2 2X036
K225-280 217 246 120 M8x25 M8x35 M8x25 M8x16 M10 2XM64x2 2X051
K315-355 350 475 285 M12X30 | M12X80 | M12X30 | M10X25 M20 2XM72X2 2X052
Side Terminal Box
FRAME A ] C 1 2 3 4 5 GLAND SIZE OUTLET (dia).
K80 95 95 56 M5X16 | M5X25 | M5X16 | M5X12 M4 M24X1.5 o1
K90-100 105 109 56 M5X16 | M5X25 | M5X16 | M5X12 M4 M24X1.5 o11
K112-132 117 125 65 M5X16 | M5X25 | M5X20 | M5X16 M5 2XM30X2 2X015
K160 155 177 87 M6X16 M6X25 M6X16 M6X12 M6 2XM36X2 2X025
K180-200 176 212 107 M6X20 M8X35 M8X20 M8X16 M8 2XM48X2 2X036
K225-280 212 248 115 M6X20 M8X35 M8X30 M8x16 M10 2XM64x2 2X051
K315-355 340 410 275 M8X30 M12X40 | M12X30 | M10X25 M20 2XM72X2 2X052
.qﬁ' VALIADIS

HELLENIC MOTORS



Bearing Seal & Lubrication

D— =
§
kd"
MOTOR TYPE DE NDE d D ]
K80 620477 620477 20 47 14
K90 620577 620577 25 52 15
K100 620627 620672 30 62 16
K112 630627 630677 30 72 19
K132 630877 630877 40 90 23
K160 6309 6309 45 100 25
K180 6311 6311 55 120 29
K200 6313 6313 65 140 33
K225 6314 6314 70 150 35
K250 6314 6314 70 150 35
K280-2P 6314 6314 70 150 35
K280-4-8P 6317 6317 85 180 4
K315-2P 6316 6316 80 170 39
K315-4-8P 6319 6319 95 200 45
K355-2P (B3,B35) 6319 6319 95 200 45
K355-2P (V1) 6319 7319 95 200 45
K355-4-8P (B3,B35) 6322 6322 110 240 50
K355-4-8P (V1) 6322 7322 110 240 50
£3) VALIADIS



Bearing Seal & Lubrication

MOTOR TYPE OIL SEAL SIZE d D h H
K80 RB20x35x4.0 020 035 3 6
K90 RB25x40x4.0 025 040 3 6
K100 RB30x47x4.5 030 047 3.5 6.5
K112 RB30x47x4.5 030 047 3.5 6.5
K132 RB40x57x4.5 040 057 3.5 6.5
K160 RB45x62x4.5 045 062 a3 6.5
K180 RB55x75x5.5 055 075 4.5 6.5
K200 RB65x85x5.5 965 985 4.5 8
K225 RB70x90x5.5 070 090 4.5 8
K250 RB70x90x5.5 070 090 4.5 8

K280-2P RB70x90x5.5 070 090 4.5 8
K280-4-8P RB85x105x5.5 085 0105 4.5 8
K315-2P RB80x100x5.5 080 100 4.5 8
K315-4-8P RB95x115x5.5 095 0115 4.5 8
{E3) VALIADIS



Bearing Seal & Lubrication

MOTOR TYPE

B B

K80 20 35 5 20 35 5
K90 25 40 5 25 40 5
K100 30 52 7 30 52 7
K112 30 52 7 30 52 7
K132 40 62 5 40 62 5
K160 45 65 8 45 65 8
K180 55 75 8 55 75 8
K200 65 90 10 65 90 10
K225 70 95 10 70 95 10
K250 70 95 10 70 95 10
K280-2P 70 95 10 70 95 10
K280-4-8P 85 110 12 85 110 12
K315-2P 80 100 10 80 100 10
K315-4-8P 95 120 12 95 120 12
K355-2P 95 120 12 95 120 12
K355-4-8P 110 140 12 110 140 12

Motors are equipped with bearings from excellent manufacturers.!n general the bearings have C3 clearances.
Motors of frame sizes 80-132 are fitted with closed bearings. .
Motors of frame sizes 160-355 are fitted with open bearings and regreasing device. Depending on the useful life of grease _‘%' VALIADIS
Open bearings must be regreased in good time so that the scheduled bearing service life is reached. Sl

HELLENIC MOTORS



Bearing Seal & Lubrication

DE NDE : Retgfeismg PETtiOd hﬂuri L Quantity of grease

MOTOR TYPE BEARIND BEARIND Or operating temperatures up to in bearing chamber
n<3600r/min n<1800r/min n<1200r/min g
K160 6309 6309 6000 10000 16000 13
K180 6311 6311 4000 9000 14000 15
K200 6313 6313 3000 5500 8500 22
K225 6314 6314 2000 5000 8000 23
K250 6314 6314 2000 5000 8000 23
K280-2P 6314 6314 1200 - - 30
K280-4-8P 6317 6317 - 4000 6000 35
K315-2P 6316 6316 1200 - - 30
K315-4-8P 6319 6319 - 2000 3000 45
K355-2P (B3,B35) 6319 6319 - - - 30
K355-2P (V1) 6319 7319 1200 - - 30
K355-4-8P (B3,B35) 6322 6322 - 1400 2200 60
K355-4-8P (V1) 6322 7322 - 1400 2200 60

®  Vertical motors should be greased twice as often as horizontal motors . _‘%' VALIADIS

e Regreasing time should be reduced if bearing operating temperature is in excess of 70°C B HELLENIC MOTORS



==
=)
S

VALIADIS




